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Criyb : 3 wewfl | [ @Qurgs wHLGuasE : 150
Time Allowed : 3 Hours | [Maximum Marks : 150
SABeyemy : . (1) S@asg elarssesd slurs ufard 2 GTATHT 6T 63T LI & 6b Gt

efluridgé Qarereta)b. oi&eludele GeDuilmLNer iemmé
gansrefluuremfliib o L angwrss Qsfeléseyb.
2 Bebd oz smiy emwuldamen L HGWL epgeusnEL] Ll (NES
Gauanr(Rb. UL RIGET eumreugnHE Quedled LWL (NS S 6 LD.
Instructions : (1) Check the question paper for fairness of printing. If there is any lack of
~ fairness, inform the Hall Supervisor immediately.

(2)  Use Black or Blue ink to write and pencil to draw diagrams.

U@ - 3 / PART - A

GOy : ()  Syewensg elamésEnéEn efan wefldseLb. 30x1=30
(i) eflwrer el mws CorbsHss (s,
Note : (i)  Answer all questions.

(i) Choose and write the correct answer.

1. Gdloasdr CrT&GHT g0 MLWMDD FHY STUICTS BOHSETET LDGVIT&5(GTHEn LLLI

&HbUL :

(1) Who-CurmAGWIS (=) QererCens
(@) wroGeud () <of&Cad
The carpels are obliquely placed in the members of :

(a) Euphorbiaceae (b) Solanaceae
(¢) Malvaceae (d) Arecaceae
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2
aurav@eri GCasbluib e :
(1) piafl 2é@s da (=) @owrsgs de
(@) yGrrQuwfev@L b () LS w&EGS dHa
Vascular cambium is a :
(a) Apical meristem (b) Intercalary meristem
(c) Promeristem (d) Lateral meristem
cTSLITen &L 5g shidladlufics ATP 2 @@L _meug) - erentiLI(piLd.

(1) gafl LrevufsreTid

() 2sallnCarmn Lrevufsyeanrid

(@) urenCul B&sid

(/F) a&miuer B&sib

Formation of ATP during electron transport chain is known as :
(a)  Photophosphorylation

(b) Oxidative phosphorylation

(c) Dephosphorylation

(d) Decarboxylation

v CurevSatenrGeer sramiu@n UGS :
(<=1) ECrriLCaflur elenswjemm

(<=4) L Laanflufer ellengwenm

(@) Culigsmuler sergds

(rF) eurenp @ewavudlenr &miby

The Osteosclereids are seen in :
(a) seed coat of crotalaria
(b) seed coat of pisum

(c) pulp of pyrus

(d) petioles of banana
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&Grravay  ellenCGermnuen ‘avifadlan Gerreawr_myn’ eremm Bieve Glevefludl L e :
(<=1) 1975 (<) 1623 (@) 1943 C o (m) 1753

Carolus Linnaeus published his book ‘Species Plantarum’ in the year :
(a) 1975 (b) 1623 (c) 1943 (d) 1753

auLfléd Qedser 24865Csmelled  srawr LB\ Eemen.
(=1) @@eilgdoa gray Gama

(=) Qoeisdaoa grair gan

(8) Qmelsdlenar sreur Geuir

(7)) @oedisdow grey searn®

The Passage cells are found in endodermis of

(a) Monocot leaf

b)  Dicot stem

(
(c)  Dicot root
(

d) Monocot stem

Gflw hpme saipHps@nd <dss SHnear Qaram Bl :

(=1) sCrmigarmi@® ger (=) coamusCamAeenser
(@) udemewbd () &rpGamed

The pigment which is highly efficient in absorbing solar energy is :
(a) carotenoids (b)  phycobilins

(c)  chlorophyll (d) xanthophyll

GOID UG STaUTSENEG THSHEST( erg) ?

(=1) Garglenwo (<=4) yensuleme
(@) eflusrsd () w&sTECsTeTD
Which of the following is a short day plant ?
(a) Wheat (b) Tobacco
(c) Sunflower (d) Maize
. [ $mliys / Turn over
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9.

10.

11.

12

4
2 Wlil(merer sreuy GlFaelley @B (PP STEUTSMS 2 (HheuT&H@GD FHmei
erenli(HLD.
(1) MUl SeTT&ELD (<2p) rYUTH ADL_Ged

(@) upsGCasrHm 2 (HEUTESLD () wpussdnenr GupmeTaTento

The inherent potential of any living plant cell to develop into entire organism is calle;

(a) organogenesis (b) differentiation
(c) morphogenesis (d) totipotency
CuenGLmren ureLCuL  euUiISSLGang SemL_HlbseuT
(1) Slylev (=) sréveden (@) y&semen (/) erbLe
discovered pentose phosphate pathway.
(a) Krebs (b) Calvin (c) Dickens (d) Embden
rreuGleaneom wLsTevaflwerdlan wafléd srasrliL(Mb aueToreT &STHS STersarfl e
T GHT G| & 6 &
(<) 2 (=) prene (@) 2ps (7) epeny
The number of fertile stamens in Ravenala madagascariensis is
(a) Six (b) Four (c) Five (d) Three
Benager GGrrGurGarbaaia 2 drerear cramuemns 2 md CGaligeur
(<=1) 9f_sgen (=) eureGLwir
(@) umellwmefl (FF) oolSlaTiDLslm
had first proved that the genes are carried by the chromosome.
(a) Bridges (b) Waldeyer
(c) Balbiani (d) Flemming




13,

14.

15.

16.
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- CLCLE GOHbUS sTeursdlan sef

(<=1) Cui (<) CapLs

(8) @mup Ceugsef () CaNCurliflev
The fruit of the members of Fabaceae is

(a) Dberry . (b) drupe

(c) legume (d) caryopsis

Cararen Bluydl.Gurrefer 2 ¢rer wEpef :

(1) (B evuTg&en (<24,) ULl ig Sev
(@) ureafdler () edswrsdwibd
The type of inflorescense in Cocos nucifera is :

(a) Compound spadix (b) Spadix

(c) Panicle (d) Cyathium

enswGeanrurse flusamns @amaserayarGer Carar®erer em BHiiGuremf :

(1) HCorevevrr (=) ClBLCrmelev ey
(@) <oyig wirenri_1d (Fr) GlFavmghllamavavrr
An endophytic cyanobacterium is found in the leaves of water fern.
(a) Azolla (b)  Nephrolepis
(c) Adfantum:. (d) Selaginella
2 W97TCeudl FlleibrHmsden sTrewTOTS fleo Carm  llemisener
2 HuGH Glalw (pigeaidaee.
(=1) Clemisw (=) ewgan <zl g eombd
(@) ewssi engpsma () Bl CrmavGLmgm
Biochemical mutants of failed to synthesize certain amino acids.
(a) Sorghum (b)  Cicer arietinumn
(¢)  Cicer gigas (d) Neurospora
. [ Hlyss / Turn (1\;91“
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17.

18.

19.

20.

6
Caawadledimbg Ceur Caremmeig) GremLiLi(RILD. -
(=) srCearbleeflan () & 2 (HeUT&ESLD
(@) eorCerQmefeadien (FF) o mililseaTT&EsED

The development of root from the callus is called
(a) caulogenesis (b) embryogenesis

(c) rhizogenesis (d) morphogenesis

Aeeumeuaneupmiear gl UGS @l (Heamenl ?
(1) omrGerr Gmm (=) Lgeiigmr
(@) sav@LLir (/F) eflevsio

Which of the following is a partial parasite ?
(a) Monotropa (b) Drosera
(¢) Cuscutta (d) Viscum

wearb WLHEL 2L @nsssHd QumbHs AEUL LweaL(BSSUL(
Lmbg—— -
(=) lggmaendlen (=1,) Guilenemen (@) Lomis sl () ghlenblarm

drug is used for mental and physical stress relaxation.

(a) Digoxin (b) Quinine () Morphine (d) Ginseng
@Q(m LSS @EF L@l W Qe -@ srawTluBEmg).
(=) G&sTElLT (<=24) Yo

(@) elusThbs (FF) eueni

Isobilateral leaf is present in

(a) cucurbita (b) grass
(c) sunflower (d) bean
»
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23,

24.

WL eUTULSSer e,
(<=1) Ben

(@) wrirser

Unit of genetic map is :
(a) Gene -
(¢) Morgan

(=) e _
(rr) BupseiiGuirent_(

(b) Lux
(d) Nucleotide

et @b wroPlwewssiul L. &G rEwnrearmey  Lig LT

(=1) 24 erdrGlummer
(@) ‘emmiGiomen

Pseudomonas putida is an engineered bacterium that can

(a) produce an antibiotic

(¢) produce a hormone

colditeng rMCasre® eramiiubBeug) :

(=) Lrgflien  Gul (heor
(@) el erEleasemen

French marigold is :
(a) Tagetas ‘petulﬂ
(c) Zinnia elegans

cuaeniowirer Lmevl (Hard bast )
(<=1) @eiigdlena greur sam(h
(8) Queilsdlawa sreur Gaa
Hard bast is found in :

(a) Dicot stem

(c) Dicot leaf

(<) srrGurenanig G

(/F) &&&T erevTlamTil

(b) produce carbohydrate
(d) digest crude oil slick

3341

o SlenssSngl.

(<) srlevan(Ham . Yedlermedlen

(FF) aDeNUITETISED < en)i6l6n

(b)  Calendula officinalis

(d) Helianthus annuus

&  srewtIU(HdleTm e
(=) p@eisdleoa sreur seam(
() @maeisdleaney Geur

(b) Monocot stem

(d) Dicot root

[ Splns / Turn over
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25,

26.

27.

28.

8
ursle flu Gededla &GL flsorer S5 RNA &&6T o drerner.
(=) 200 (<) 70 (&) 300 (/) 400
In bacterial cell, there are more than tRNAs.
(a) 200 (b) 70 (c) 300 (d) 400
Gpprudfler ‘LssTGar * Corenw gHLGSS0IS :

(<=1) Buredls  sfeid (<) IAAG  yBlevtd
(@) Ymared <fgs beid (FF) Brigeden 9ifligs ojbled

Bakanae disease in paddy is caused by :
(a) gibberellic acid (b)  Abscissic acid
(c) phenyl acetic acid (d) Naphthalene acetic acid

fléorean’ eris efleerelparear apriGorer erg) ?
(<21)pdSlan (<) ergdlaben

(@) esCLrengef en (/) edlliradlem

Which of the following is the cause of Richmond Lang effect ?
(a) Auxin (b)  Ethylene

(c) Cytokinin (d) Gibberellin
pAGWS @Lib Qupmerer auflens

(<=1) Qe .CuCry (=) Qan g CrmilCyr
(@) eusrrCuaGal. G () welGessGaucen

Rubiaceae is placed under the series :

(a) Inferae (b) Heteromerae
(c) Bicarpellatae (d) Unisexuales
»
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29. —Lq_UW@IGﬁJoOouGUGﬂ)GS@é(@ T(HEHGSTL(H :
(=) yrmemen  OCaren

(<) sriursailGeoev

(&) ablevyenen Lq:asrrfru N [ES

(%) G-3-P genapigCrrgCanav

An example for transferase is :
(a) transaminase
(b) carboxylase

(c) histidine decarboxylase

(d) G-3-P. dehydrogenase

30. HassLmauler g&ar Chrenw o (meurs@n Goruuif]
(=) euflgGaflmr eamyGs
(=) smBCorGomamah AM
(@) QJ#Q.smi:zGu;rmr ClrsCemt_ir

(/) GmEGCrr enaga

causes Tikka disease of groundnut.
(a)  Pyricularia oryzae
(b) Xanthomonas citri
(¢c)  Cercospora personata

(d) Tungro virus

[ Hplys / Turn -
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Lu@&S) -2y, / PART - B

@Y : awaCuad udameamhg olamésenss ol wallssayb. 15x3=45

Note : Answer any fifteen questions.

31. uflGargemen éusﬁa;uunt_Lq_UJeﬁleﬁT Crrasmseamer @GHUGHS.
Mention the aims of biosystematics.

32. wreoGeaudl gOobusSadrar o areysd sreaurmsear epader @QmGerd
Quuiflenar er(Lps)s.
Write any three binomials of food plants of Malvaceae.

33. Hleannailadluen L&IHSSTET cranmmred eree ?

What is syngenesious stamens ?

34. @&Gavryr srgaflaflur vefler cuamruLsms euenyhg wefler eumiiCium 6L

oT(LD&15.

Draw floral diagram of Ixora coccinea and write the floral formula.

35. QuAGLilled = arer eperim Hadsemer or(pgis.
Name three tissues in periderm.

e

36. ‘e gen e QBT Cam_ur® gren ‘g e epn LG () Carl ur®’
eremm ienwpssluBEng ?

Why has ‘one gene one enzyme hypothesis’ been modified into ‘one gene one polypeptide
hypothesis’.

37. &fewge (repulsion) eremmed crevmenm ?

What is repulsion ?
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39.

40.

41.

42,

43.

44.

45.

46.

47.

11 . 3341

LigWm&sn  (transcription) CT@IMTE) GrevTer ?

What is transcription ?

2l Pevans Qubpm Qmelgdanes sreuriisdr Qrargean er(pgs.

Give the binominals of any two dicot transgenic plants.

&reev (callus) eremmmed eTermar ?

What is callus ?
ean&@eillY OO eremre) eraman ?
Define energy of activation.

Q@ el LUskIsaNsEISE (dimorphic chloroplasts) GTGUIMME  GTedTeur ?

What are dimorphic chloroplasts ?

) @L@@iﬁmﬂg STQUTLD GTETMTEd GTremer ? THSSIGSTL_(H) (.

What is total parasite ? Give an example.

FAUTE [Ta| - GuenLim).

Define respiratory Quotient.
-

flenerésmed £ e u,‘rpﬂ efleuflgs epem Geiwell wmefweriadr CQuweny
(PG!S,

Write three German scientists, who discovered Glycolysis.

Cumédigir (bolting) ~GUENTILIM).

Define bolting.

pevar U SEaD eremmed erean ?
What is apical dominance ?

[ SlBLys / Turn over
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48. @efiiliuger Bésb erampred eremen ? |
What is devernalization ?
49. Garrenr Cairey weom erammmed creve ?
What is clonal selection ?
50. Glrevans eop&ris sreursSen ewem) DMHSSIEUIL  LIWIETSEEMET 6T(LDS)IS.
Write any three medicinal uses of solanum nigrum.
. UGS - @ / PART - C
@MYLy : ()  eremeuCuignyib I SllaTésEndE efenl &(ms. 7x5=35

SjeupmieT eSlerm erar 55 M@ UMb efenL 2jafl&sCouaT@Ib.

(i) Csmenurer @Lfisafler LLID aiers.

Note : (i)  Answer any seven questions including question no. 55 which is compulsory.
(i) Draw diagrams wherever necessary.

51. Qupsd wHYD enOsei-ar euamsiiLm iqen Blepmaener er(ps)s.

Bring out the merits of Bentham and Hooker’s Classification of Plants.

52. GuCGuél gOLU grarmsaiier LoCam DETHSSTETHEDET H(hEHLTE edleu.

Briefly explain different types of androecium of members of Fabaceae.

53. UmsGarer fss Qsr@lder Lelsdar Lb 6T (LDGIS.
Write the functions of epidermal tissue system.

54. oarssieL wLHMD FTOm&s L. fwandndarCu o drer
Gaumur®saner @M AHs.

Mention the differences between heart wood and sap wood.




55.

56;

57.

58.

; 59.

60.

61.

62.

Draw and label the parts of transverse section of Grass leaf.

Garmiiig uflesr 8bS (PSEWLSs eI 6T (LD 5.

Write any five significance of ploidy.

SL8% RNA-afler  ienwolienss UL ib UMIBSI LTSRIGmaTs (@,

Draw the structure of tRNA and label the parts.

2aals Gsminsiennuie ewd geovar’s Qupp sreuyiisaier LI GTeTenr?

What is the role of transgenic plants in food industry ?

&reurs Ha euari Qe BOS! LWSDaT 6T (1955,

Write any five applications of plant tissue culture.

QprdlEef s TETEUG DG Le semer QEN:S

Bring out any five properties of enzymes.

Coanmbidlen qeaflgder < ellener afleu.

Explain Ganong'’s light screen experiment.

‘DECETDTET ereLg GNss An GOy euemys.

Write short note on ‘Mycorrhiza’

» [ SBLys / Turn over



3341 14
U@dl - = / PART - D N
GOy : () e@aCuab BreTE NamésEndE elaL &hs. 4x10=40

(i) Coemeuwrer @L Rseta LILLD eumys.

Note : (i) Answer any four questions.
(ii) Draw.diagrams wherever necessary.
63. (=) CQewnems werm euemslLTH-FAn GOlULY euamys.
(<=2p) QaniCGuilugder EHusssS®mS T(PSHIS.
(a)  Write short notes on artificial system of classification of plants.

(b) + Bring out the significance of Herbarium.

64. Bluevr LmpgaSiurET STeursamsg sameg Gerhaerme eblefl. el suerUL LD
GUENTTH DG GUMILITL DL GT(LpGIs.

Describe Musa paradisiaca in technical terms. Draw floral diagram and write the floral
formula.

65. @melgdme sreur Gaflar wpsoblera ewliemu UL g6 efeurfl.

Describe the primary structure of monocot root with diagram.

66. () wgmsrev @CLICr L ev graurser @erenriiy Qawdur’gear efleufl.
(<) er’rﬁgﬁ)mgmg ellenereild@d  srrenflsear LpH Hm GOILL auemrs.
(a) Explain the coupling aspect in Lathyrus odoratus.
(b)  Write short note on Mutagenic agents.

67. sraurmsaled LCrrlCGLrlerre  @amewey  eped 6T 66U T )
o | evsallainrssd Hspdng caums eflaifl wHomb LCrrl CLmYerrs
Genamrallen Liwiem UTHSMET 6T(LHSIS.

Explain how protoplasmic fusion can bring about somatic hybridization in plants, and
write the practical applications of protoplasmic fusion.
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68.

69.

70.
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c‘(@;) sndl gal urevufsrerd  swHdu@ar gafl  urevuflsyeaurd

% fweupdn@erer Goumyur@aaer (DG,
() “Lrafpr upidl Sim GHLY cuenys.
(a) Write the differences between cyclic photophosphorylation and non cyclic

photophosphorylation.

(b)  Write short note on Drosera.

ergdlallen wHmb oIAHE oyleid G Sueupdler eurpelwe eflaara samen
GHLEEs.

Write an account of the physiological effects of ethylene and abscisic acid.

Lmss, Case fuepear QurmerTaryr LweLTGsmer T (PS5

Write the economic importance of cotton and teak.
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